Example 1:
The recession limb o f a flood hydrograph is given below. The time is

indicated from the arrival o f peak. Assuming the interflow component to be
negligible ,estimate the base flow and surface flow recession coefficients.
T —

Also. estimate the storage at the end o f day-3.

Time from peak Discharge Time from peak Discharge
(day) (m*/s) (day) (m*/s)
[ 90 4.0 3.8

0.5 66 4.5 3.0
1.0 34 5.0 2.6
1.3 20 3D 2.2
2.0 13 6.0 1.8
2.5 9.0 6.5 1.6
3.0 6.7 7.0 1.5
3.5 5
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Fig. 9 Storage Recession Curve —Example 1
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Time (hr) 0-2 2-4 4-6 6-8 8-10 | 10-12 | 12-14 | 14-16
depth {cm) 0.4 0.9 15 2.3 1.8 16 1 0.5
intensity(cm/hr) 0.2 0.45 0.75 1.15 0.9 0.8 0.5 0.25
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Fig. 11 Hyetograph and Rainfail Excess of the Storm - Example 2
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Estgimp le. 3 | |

Rainfall of magnitude 3.8 cm and 2.8 cm oceurring an bea consecutive 4-k durations on
a catchment of arex 27k’ produced the following hydrograph of flow at ouiles of the

‘catchment. Estimate the rainfall excess and ¢ index.

Time from start
oframfall (b} -6 0 6 12 18 24 30 36 42 48 54 60 66

- Ohserved flow
(m'is) 6 5 13 26 21 16 12 9 7 5 5 45 45
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